Disclaimer

The solution at hand was written in the course of the respective class at the
University of Bonn. If not stated differently on top of the first page or the
following website, the solution was prepared and handed in solely by me,
Marvin Zanke. Anything in a different color than the ball pen blue is usually a
correction that | or a tutor made. For more information and all my material,
check:

https://www.physics-and-stuff.com/

| raise no claim to correctness and completeness of the given solutions! This
equally applies to the corrections mentioned above.

This work by Marvin Zanke is licensed under a Creative Commons Attribution-
NonCommercial-ShareAlike 4.0 International License.



https://www.physics-and-stuff.com/
http://www.physics-and-stuff.com/
https://creativecommons.org/licenses/by-nc-sa/4.0/
https://creativecommons.org/licenses/by-nc-sa/4.0/
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